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1. | The chart wizard term data series refers to :
(1) A chart legend
(2) A collection of chart data makers
(3) Adatalabel
(4) A set of values you plot in a chart
Chart 9 term =ie R & 7791 § @ Rgd ofog &
(1) & g% legend
(2) Chart data makers 1 €48
(3) % grer A
(4) Values & @2 St &9 g § plot F ¥

“2. 1A typical worksheet has ............ number of columns

(1) 128 (2) 256
(3) 512 (4) 1024
% typical worksheet & ............. column 89 &
(1) 128 (2) 256
(3) 512 (4) 1024

3. | What symbol is used before a number to make a label ?

(1) “(quote) (2) =(equal)

(3) _(underscore) (4) ‘(apostrophe)

f=1 § § P9 @ symbol & number @ AW &M A ? A8 9 label 7 9|
(1) “(quote) (2) ={equal)

(3) _(underscore) (4) ‘(apostrophe)

CJDEOT-2012/SET-Y (1)
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4. | Which elements of worksheet can be protected from accidental modification
(1) Contents (2) Objects
(3) Scenarios (4) All of above
= & ¥ worksheet % #19-§ d@ 1&# % modification & protect #Fd 1 7 2
(1) Contents (2) Objects
(3) Scenarios (4) F9T a9 |4

5. | Data can be arranged in a worksheet in a easy to understand manner
using
(1) auto formatting (2) applying styles
(3) changing fonts (4) all of above
el #F worksheet ¥ wia i3 @ P § ¥ B9 @ =3afyq By o g@ar &
(1) auto formatting (2) applying styles
(3) changing fonts (4) FW I |

6. | Afeature of MS Word that saves the document automatically after certain

interval is available on

(1) Save tab on Options dialog box
(2) Save As dialog box

(3) Both of above

(4) None of above

&AW F fAfeEs 999 3 9% @ save FA awn MS Word #1 feature i< 3 @ 59 @@
oy 1

(1) Options z@@r dFE W Save tab &
(2) Save as TH@EF 5T

(3) 9T g &t

(4) FWH 8 P T8

CJDEOT-2012/SET-Y (2)
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7. | Amasterdocument contains .................... , each of which contains a pointer
to a file on a disk ?
(1) placeholders (2) subdocuments
(3) book marks (4) references
U% master TEIES ¥ ..o 24 8, fred 13% 3% w oe 3 MY pointer 8RN
?
(1) placeholders (2) subdocuments
(3) book marks (4) references

8. | Which would you choose to move selected text from one place to another ?
(1) Move and Paste (2) Copy and Paste
(3) Cut and Paste (4) Delete and Paste
=1 & @ selected text H 06 T A g4l 8 move & & fm F-w1 T
(1) Move and Paste (2) Copy and Paste
(3) Cut and Paste (4) Delete and Paste

9. | Which enables us to send the same letter to different persons ?
(1) macros (2) template
(3) mailmerge (4) none
ot % @ oF & U ORPI-ORE At @ WA & [ -1 Oe FART 8 7
(1) ¥ (2) 2weie
(3) Bt (4) % ¢

10. | Which key on the keyboard can be used to view slide show ?
(1) F1 (2) F2
(3) F5 (4) F10
P @ 57 key # w4 slide show 3@ & R b = o 8 2
(1) F1 (2) F2
(3) F5 (4) F1i0

CJDEOT-2012/SET-Y (3)
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11.

In satellite based communication VSAT stands for :
(1) very small aperture terminal

(2) varying size aperture terminal

(3) verysmall analog terminal

(4) none of above

e e g=Y ¥ VSAT & wieq -

(1) very small aperture terminal

(2) varying size aperture terminal

(3) verysmall analog terminal

(4) I § § HE A T

12,

The word length of a computer is measured in :
(1) Bytes (2) mm

(3) m A : (4) Bits

e § T s T A R A o B

(1) 3red o (2) Prfdlex

(3) "X (4) fagm

13.

What type of device is computer keyboard :

(1) Memory T (2) Output
(3) Storage ' (4) Input
FET F I 50 TN F device B :

(1) Memory ' (2) Qutput
(3) Storage N (4) Input

CJDEOT-2012/SET-Y (4)
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14. | Softwares such as explorer and firefox are referred to as
(1) System Software (2) Utility Software
(3) Browsers (4) Internet tools
d3gT 38 R explorer T firefox @ e ¥ :
(1) Ren wfvedag (2) g A
(8) aeTd (4) getie &

15. | The time elapsed between the initiation of a memory operation and the
completion of operation is known as :
(1) memory cycle time (2) memory access time
(3) transfer time (4) skip time
Rl memory operation # Y& ¥ FBT I 8 B dra B T Fq Frerar ¥
(1) memory cycle time (2) memory access time
(3) transfer time (4) skip time

16. | A hawker from a point walks 7 km Eastward to turn left and walks 6 km.

From there he moves Southward 7 km to turn right and stops after walking

7 km. How far and in which direction is he now ?
(1) 8 km, East (2) 13 km, North
(3) 1km, West (4) 1km, South

o S o wE & 7 A @ 3 oliv o & 9 gz e € ol 6 fRft. 9w 8
e @ TR ) ol 7 P e & e A g3 Y 7 RER. 9 % 1A 3 ) 98 oW AR
A A Rl g7 g R fan & B 2

(1) 8 Fraft. o (2) 13 Bsft. 3

(3) 1 %, ofymm (4) 1 &A1 2R

CJDEOT-2012/SET-Y (5)
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17. | Which diagram represents ?
Father (F), Mother (M), Child (C)
W (T e OOE
@ 0 () ®
FH-a1 fer Fwaor e B 7
faar (F), s (M), a@ (C)
Natoltololo
A
(3) a" (4) @
18. | Choose the odd one
(1) Geometry
(2) Algebra
(3) Arithmetic
(4) Mathematics
I
(1) =aiHf (2) g
(3) SR (4) 7o

CJDEOT-2012/SET-Y (6)
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19. | What is equal to ) S g . R
0.9 x 0.01 x 0.03 . T f
=7 N
' - 0.27 o AU
Jw oo @ o001  @®ow @ oo o i
% T 1 B o Tl
0.9x001x0.03 O A
0.27 . | T
(1) 0.01 {2y 0.001 (3) 0.10 (4) 0.0001
20. | Find one number from the given alternatives which can fill both question
marked spaces :
S S - i o
s - @4 (3 256 @ 20
R e Fedl § @ O dem g3 1 A net Ribed et @ R
TG | e
K 16 : S .
(1) 5 (2) 4 (3) 256 (4 20
21. | Who was the first woman to become the Chief Minister of a State in
India ? ' ' . S :
(1} Sargjini Naidu (2} Sucheta Kriplani
(3) Vijai Lakshmi Pandit (4) Rajkumari Amrit Kaur
e B R T @ ge F R aRl we AR e o ?
(1) = g (2) o FEah
(3) Toorg @it qgfzm (4) oA T #R
CJDEOT-2012/SET-Y (7)
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22. | Raman Singh is the Chief Minister of ...................
(1) Chhattisgarh (2) Tripura
(3) Jharkhand (4) Madhya Pradesh
T 8 e, $ qeg 7= B
(1) oo _ (2) Bga
(3) #RE=S (4) w3 9o

23. | What is the total number of nationalized banks in India ?
(1) 21 (2) 20
3) 14 | 4 6
TR ¥ T W B g v R R
(1) 21 (2) 20
3y 14 (4) 6

24. | Which state among the following has the highest literacy rate ?
(1) Goa (2) Maharashtra
(3) Himachal Pradesh (4) Mizoram
fr=t 3 @ e oon ) wera X i R Y
(1) (2) HaTU
(3) Temred mwr - (4 e

25. | Who did ransack Somnath temple in 1026 AD ?

(1) Mohammad Bin Qasim  (2) Mahmud of Ghazni

(3) Mohammad Ghori (4) Genghis Khan

"1 1026 9 | "= @ fre T B ? ’

(1) "R {9 Fm - (2) "R T ~
(3) AemE G - - (4) 99 @m T

CJDEOT-2012/SET-Y (8) : .
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26. | g gt § 8 g% 9= I
(1) smwaer @ wEe
(3) SmEw (4) e
27. | Frafafea o= 9Et # & $A-a1 w9 TR & I 9= F qaEEr § ?
(1) e, e, Ioed
(2) RTERR, S, s B D N
(3) S, I9gHT, vl -1
(4) AEd, swEee, Rada
28, | Py o=l 7 § 9 9= B UianiE q= B q91 Fe )
(1) sk '
(2) sfcardt
(3) wedrh
(4) argad
29. | 43 Ru e a B Rea T A B R w@ R g
........... F 9 T ¥ o Rerar &1 g |
(1) fafy E (2) Tam
3) W (4)
30. | Fr=faf @ § R e 99 89 98 s & waa Al
| 4gH W TG ... 3 '
(1) we @ ™
(3) dom (4) I

CJDEOT-2012/SET-Y (9)
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31. | Select the correct form of the verb from the options to fill in the blank in

the following sentence

Did you think, you ............... me somewhere before
(1) had seen

(2) have seen

(3) were seeing

(4) saw

32.

Select the correct option to fit in the blanks in the following para.

The mountaineer was a bit .......... as he was ............. cutting steps toreach

the top of the hill. He was still moving up ..............
(1) tired, continuously, carelessly

(2) energetic, continuously, aimlessly

(3) tired, continuously, carefully

(4) tried, continuously, carefully

33.

Select the correct option to fill in the blank in the following sentence

Mary enjoys ............ video games
(1) inplaying (2) atplaying
(3) forplaying (4) plaving

CJDEOT-2012/SET-Y (10)
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34.

Read the following passage and select the statement best supported by it.

Road accidents can be prevented if the quality of roads is improved and
the drivers are imparted training in safety rules which they must follow. It
is also equally necessary that illumination on the roads is adequate so as
to prevent accidents during nights. o :

Statements : o R R E

(3) Drivers lack of knowledge of safety rules is the only cause of road

(1) Road accidentsrz'lre man-made and are alwayé avoidable.

(2) Road accidents are solely due to inadequate illumination.

accidents.

(4) Road accidents result in large number of deaths. S

35.

Read the following passage and select the correct answer

Leg pain or numbness with or without back pain is a common reason for
individuals visiting various clinics. Usually there is no history of injury to
the leg and lower back. Leg pain often starts in the lower back where the
sciatic nerve originates. This is similar to power going off in our houses

when the problem originates at the electric pole or elsewhere.

(1) Leg pain starts from the place of origin of asciatic nerve S :

(2) Injury is the only cause of leg pain

(3) Leg pain is not akin to power failure in the houses which occurs at the

electric pole

(4) There is no need for diagnosis of leg pain.

CJDEOT-2012/SET-Y (11)
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39. | To delete an embedded object, first

(1)
(2)
(3)
(4)

Double click the object
Select the object by clicking it
Press the Shift + Delete keys

Select it and then press the delete key

Embedded 3=iae @ delete #R3 & 8 8w 39 1 Hd &

(1)
(2)
(3)
(4)

Object # zaw [ HI

Object & v & AT Fo

Shift + Delete =fad # =

e 39 duEe #¢ A T delete I &

40.

Tab scrolling button

(1)
(2)
(3)
(4)

Allows you to view a different worksheet
Allows you to view additional worksheet rows down
Allows you to view additional worksheet columns to the right

Allows you to view additional sheets tabs

3G whifer g2 P 8§ @ e B

(1)
(2)
(3)
(4)

U T THT F AT B Y quw A 8

additional a#sfie rows down # 3gY % ) qe e T &
additional a&siie columns to the right # 2@ 3 A 989 T &
Additional sheets tabs @ 3@+ 3 2 T2 g9mr &

CJDEOT-2012/SET-Y (13)
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41. | To move the cursor page to page of document
(1) Ctrl + PgDn (2) Ctrl+PgUp
(3) Both of above (4) None of above
sEAA § oF O @ ga¢ O W cursor # A A & fd Fr & & F-w wdm A 2
(1) Ctrl+ PgDn (2) Ctrl + PgUp
(3) FHIT I AL (4) T & 8 FE T
42. | Which of the following is used to create news paper style columns ?
(1) Format Tabs (2) Table Insert Table
(3) Insert Textbox (4) Format Columns
= 8§ s@aT ®EF $ column &R & U BH-11 w@iy § Ay ww & 7
(1) Format Tabs (2) Table Insert Table
(3) Insert Textbox (4) Format Columns
43. | To insert a drop cap in one of the paragraph you should access
(1) Insert Menu (2) Format
(3) Tools (4) None of above
frdt s # drop cap TR & B Frw # @ AF-A1 w@ FOA @Ry ?
(1) Insert Menu (2) Format
(3) Tools (4) 390Ed § & 13 78
44. | What is the shortcut key to Close Active Document in MS word ?
(1) Ctrl+F4 (2) Shift + F4
(3) Ctrl + Shift + F4 (4) None of above
MS Word ¥ tf¥eg z@@s #f 98 $ & &g Shorteut =& F9-41 8 & ?
(1) Ctrl+F4 (2) Shift + F4
(3) Ctrl + Shift + F4 (4) 390§ q FF T8

CJDEQT-2012/SET-Y (14)
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45. | What is the shortcut key to “Insert Hyperlink™ in a document ?
} (1) Ctrl+H (2) Ctrl+L
(3) Ctri+K {4) None of above
oF R ¥ “Insert Hyperlink” & #3 Shortcat ar @m-a &t & ?
(1) Ctri+ H (2y Ctrl+L
(3) Ctrl+K (4) IwrR § | B T

46. | Some set rules and regulations while working on internet is called :

(1) Protocol (2) Internet

{3} Intranet (4) WWW

Internet 97 9 &3 & a6q Fag i At 2 92 (Set) & 7 F&1 577§
(1) Protocol (2) Internet

(3) Intranet (4) WWW

47. | Video-conferencing is used for :

(1) talking to each other (2) communication purpose

(3) live conversation (4) none

fafem sFEhdn 1 sudm Rrafn B o e

(1) 99 % @ 379 3 g (2) darT # fag

(3) wig Fadd & (4) TuiEs § | #E 79
48. | VDUisa

(1) Inputunit (2) Output unit

(3} Processing unit (4} Storage unit

VDU ™8 93R # Device 2

(1) g = (2) Y IFE

(3) IR R (4) A §FR

CJDEOT-2012/SET-Y (15)
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49. | What does optic fibre use to transmit data :
(1) vibrations (2) sound
(3) electric current (4) hght
Optic Fibre & gfe darw & fou e w&m g 2 -
(1) =7 . (2) w&=
(3) Taga wrm (4) wH™

50. | What is Binary equivalent of 23 :
{1) 1010 (2) 1101
(3) 10111 ' (4) 10101
qIWE T 23 & g equivalent @4 R
(1) 1010 (2) 1101
(3) 10111 (4) 10101

51. | & 19 TN R g
it -
(1) Tt (2) &
3) g=d _ (4) et

52, | Frfofed o=l ® & #R-@ o= AYH 2 ?
(1) g (2) Friem
(3) Fiem (4) R

53. | Frefied osdt # @ @F-a1 “orer” 9= H qAigar) e @ 7
(1) =g (2) MR
(3) agfes (4) gy

CJDEOT-2012/SET-Y (16)
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54. | f=iota oal B @ Canw” 9= $ R g 9 SR |
(1) FAHdH (2) RIR
(3) Frd® (4) P
55. | @@ oY T REeT g
g -
(1) st (2) g
(3) =@r (4) @zA
56, | i R mw Rt & § 9 g gt
(1) 98 @« s/ &M 2 |
(2) o= g597 ) g g 2
(3) ¥ & g AR F ARK &
(4) 3 T < T gHe FX AW
57. | A fore a R A W& F dfes? FAEr e R o | 0w, e @ ged &, JRgw

& | Jfega oz ) effeny
R i FrEE 3 Gefm § 959 o e R

(1}
(2)
(3)
(4)

I qfy
wEY & i §
950 I & 8

at e

CJDEOT-2012/SET-Y (17)
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58. | fr=tfvfga iy H vest T 99 Ru Il # § @€ gay @ sifen
3 g § uF 99F N WoR 7 @ (A0 FAE § OF g e & o A & e B
T8 TR T 3T 3 B o g TE B @ A A e @ 78 o e weR ¥
g i & R wa A et B
(1 B - (2) a8
3 =@ (4) &
59. | @f W gren faweT g
- .
(1) Yewmwm . 2) W
(3) 3@ (4) fafema
60, | N Tk y=% N FwH B AH B ARG 81 YF qA T oga H
(1) (2) FarEE
(3) | (4) HRE
61. | To open the existing presentation, press
(1) Ctrl+L (2) Ctrl+N
(3) Ctrl+ A 4) Ctr1+0
Existing 59297 B @79 2 i ..., el
(1) Ctrl+L - (2) Cul+N
(3) Ctrl+A (4) Ctrl+0O

CJDEOT-2012/SET-Y (18)



Code-D

Question| -
No. Questions
62. | After choosing a predefined template, which option has to be chosen to

change the background color ?
(1) Design Template (2} Color Scheme
(3) Animation Scheme (4) Color Effects

% predefined ¥=mie & 7 & 9%, v § § SF-81 A% background color @
oo B fod war S & 7

(1) Design Template (2) Color Scheme
(3} Animation Scheme (4) Color Effects

63.

How can the slide show be repeated continuously 7

(1) loop continuously until ‘Esc’

(2) repeat continuously

(3) loop more

(4) none

Slide show # =1 § & f5g &1 AR repeat a1 A1 qebam & ?

(1) loop continuously until ‘Esc’(2) repeat continuously

(3) loop more (4) Tudw ¥ § g @i

- 64.

In PowerPoint, when the mouse pointer appears as............... this it indicates
that Draw Table feature is on

(1) Solid plus sign " (2) Solid arrow

(3) I-beam (4) Pencil

PowerPoint ¥ mouse pointer Fr=1 & 8 ............. Reg dmE A asgmme i
Draw Table %= on 2|

(1) Solid plus sign (2) Solid arrow

(3) I-beam | (4) Pencil

CJDEOT-2012/SET-Y (19)
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85. { What do you do to start the slide show ?

(1) Click on Go

(2) Turnon transition

(3) Click on the slide show icon

(4) Al of the above

Slide show & & &1 $ R oMy 71 F3d ¥ 7
(1) Go % Click #

(2) Transition # turn on &t

(3) Slide show I s 1

(4) I0ET T 99
66. | E-mail address separates the username from the ISP using the
symbol :
1 & (2) @
(3) % (4) *
gAY g ARTAR | SudieR B AW a# ... & T I W E -
1) & (2) @
(3) % (4) *
67. | Before a disk can be used to store data, it must be :

(1) formatted (2) reformatted

(3) addressed (4) none of the above
foes o 3 @R & & g, B @ AT =R
(1) wiife (2) Frerife

3) w@Bw (4) 3IRF § ] 3 st

CJDEOT-2012/SET-Y (20)
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68.

When you put on the computer in morning it is called :
(1) hot boot

(2} cold boot

(3) warm boot

(4) none of these

w4 e & gae on BB T &, A T ... FeAr & :
(1) sk

(2) *r= T

38) ad g

(4) IoT A § g A T

69.

Exploring the world wide web is called :
(1} Net surfing

(2) Internet explorer

(3) Net navigation

(4) Netscape Navigator

ge¢ a1e a9 # explore T P FT FBT A & :
(1) Net surfing

(2) Internet explorer

(3) Net navigation

{4) Netscape Navigator

CJDEOT-2012/SET-Y (21)
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70. | The first part of a complete URL is the .......... needed to access the web
resource :

(1) address
{2) name

{3) location
{4) protocol
gl URL # Teell 1 @6 .......... RN &, ST AT HEEA F IUEN FE B R AR
(1) '

(2) M

(3) &m

(4) AAwH

71. | In a certain code, ‘786’ means ‘study very hard’ ‘958' means ‘hard work

pays’ and ‘645 means ‘study and work’. Which is the code for ‘very’ ?

D 5 2 6 )

3 7 | @ 8

oF g 786 7 o ¥ ‘= AT ard’ 958 F ond ¥ oS 99 I 7w 645 3 ond B wA
TR I AW I A AR ? ‘ |

1 5 | @ 6

(3) 7 (4) 8
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76.

Select the antonym of the word “Replaceable” from the options given below
(1) Irreplacable (2) Inreplaceable

(3) Irreplaceable (4) Unreplaceable

7.

Select the correct antonym of the word “Measurable” from the options

given below
(1) Inmeasurable (2) Immeasurable
(3) Unmeasurable (4) None of the above

78.

Select the option which is antonym of the word “Encryption”.
(1) Uncryption (2} Description

(3} De-encryption (4) Decryption

79.

Select the option with correct spelling of the word

(1) Beleaguer (2) Beleagur

(3) Beleageur (4) Beleagar

80.

Select the option with correct spelling of the word
(1) Chauffar (2) Chauffer

(3} Chouffer (4) Chauffeur
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81.

(4) Walk carefully lest you should fall down .

One of the following sentences is correct, while the rest three have some

error(s). Select the correct sentence.

(1) Walk carefully lest you fall down

(2) Walk carefully lest you may fall down
(3) Walk carefully lest you are fallen down

82.

The following sentence has an error in one of its part. The number assigned
to the part is the answer. Ignore the errors of punctuation, if any. Mark

the correct answer.

As the Prime Minister of India, Jawaharlal Nehru was known by all types
of people in the World

(1) As the Prime Minister of India
(2) Jawaharlal Nehru

(3) Was known by all types

(4) of people in the World

83.

'(1) Fear (2) Puzzle

Select the correct option reflecting correct meaning of the word “Baffle”.

3) Clarify (4) Enlighten L

84,

Select the option which is a synonym of the word “Torment”.

(1) Comfort . (2) Respect T - 1

(3) Torture A (4) None of the above -
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85. | Select the option having meaning similar to the word “Abandon”.
(1) Renounce | (2) Retain
(3) Maintain ' (4) Capture

86. | Name the Prime Minister of Russia
(1) Viadimir Putin (2} Leonid Tibilov
(3) Valentin Topov (4) Dmitry Medvedev
4 B JuE g @ s aad |
(1) =M gfa (2) bR Rfasa
(3) Jafea Ada (4) = Azadq

87. | Choose the smallest country amoeng the following in area
(1) San Marino (2) Tuvalu
(3) Nauru : ~ " (4) Monaco
Fret & 85 9 W@ 812 39 &t g7
1) §\as - (2) T
(3) s (4) 2=

88. | Excepting China and India, which country has the biggest population in
Asia?
(1) Japan - (2) Bangladesh |
(3) Indonesia - (4) Pakistan
R T IRT F SR Gy § 59 3 F FIEEn qaiivs § ?
(1) <= (2) e
(3) e (4) TReEH
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89. | Angkorwat temple complex is situated in ...............
(1) Indonesia (2) Cambodia
(3) Thailand (4) Malaysia
IFTHTARE TFET TIE oo ¥ fea B
(1) =R (2) FRA
(3) umgce (4) wfmn

80. | What is the capital of Qatar ?
(1) Doha (2) Muscat
(3) Kuwait . (4) Manama
F H THE w7 Y 7
(1) (2) #&he
(3) o (4) W&

91. | Which animal figure is not adopted in the National Emblem of India ?

(1) Lion (2) Bull
(3) Elephant (4) Horse
IE & Ul Rrgd § g oy @ sl @ 38 o § 7
(1) ;w (2) ¥
(3) = (4) o
92. { OnJune 1st, 2012 which Vikram Samvat is going on ?
(1) 2068 (2) 2069
(8) 2070 (4) 2012
A 1, 2012 %t -8 R §aa oo @1 8 7
(1) 2068 (2) 2069
(3) 2070 (4) 2012
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93. | Light travels from the Sun to the Earth approximately in ................
(1) 8.3 minute (2) 24 hours
(3) 364.4days (4) One light vear
T} g T TE AT e, # wga o ¥
(1) 8.3 e (2) 2492
(3) 364.4R= (4) % gy
94. | What is the normal human body temperature ?
(1) 36.9°C (2) 98.4°C
(3) 100°C (4) 50°C
R A g A9AE & g 2
(1) 36.9°C (2) 98.4°C
(3) 100°C (4) 50°C
95. | Which state among the following has the least number of members in
Vidhan Sabha ?
(1) Sikkim (2) Goa
(3) Mizoram (4) Manipur
Prr & fpm 7w ) R aon A w98 w9 el B 7
(1) & (2) M
(3) P (4) =R
96. | Simplify the following.
15-11x14+7-(~-7)=?
(1) 44 (2) 14 (3) 0 4) 15
Frt & &7 Bt
15-11x14+7-(-7)=7
(1) 44 (2) 14 (3) 0 (4) 15
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97. | Complete the series. _
4, 16,21, 5, 20, 25, 6, 24 ——,
(1) 29 " (2) 30
(3) 18 4) 7
S H T o
4,16,21,5,20,25,6,24 ——.
(1) 29 ' (2) 30
(3) 18 4) 7

98. | Complete the analogy.
Tractor : Trailor : : Horse : ?
(1) Stable (2) Saddle - |
(3) Cart (4) Engine '
q5Y ¥ U H - | -

T 3 s e 7

(1) st | (2)
(3) mh (4) &=

99. | Choose the analogous to
Butter : Mitk
(1) Pencil : Lead (2) Class : Student 2t
(3) dJaggery: Sugarcane (4) Author : Book
at i
TG : gy .
(1) YPea : o (2) & : feremet
(3) T : T (4) oEs : y&iF
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100.

A room is to be painted completely from inside at the rate of Rs. 20 per
square feet including door and windows. Its dimensions are 15 feet in length |
12 feet in width and 11 feet in height. What will be the total cost

of painting ?
(1) Rs.11880 (2) Rs. 156480
(3) Rs. 19080 (4) Rs. 27360

o R eant qun Resfil a@fa o 8 o @ 1 wam @ R @ 20 s, uf ot
%2 81 FA 15 Gz e, 12 g7 et 11 G2 FuR # B I fram § g B 'y
S ? |

(1) 11880 5. ’ (2) 15480 5.

(3) 19080 5. , (4) 27360 5.
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